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Problem 1

Consider the inhomogeneous differential equation

y′′ − 4y = x.

We will solve this using the method of annhilators.

(a) Write down the associated homogeneous equation and solve it.

(b) Write down an annhilator P (D) for the inhomogenous term.

(c) What is the new differential equation?

(d) Find a particular solution to the original equation.

(e) Write down the general solution to the original equation.

Clearly mark and define anything you use. Be precise. There is no place in the
world for ugly mathematics.
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